EARAROBREBRT —5 XN—ZXBISH—F

20233858 (B) 22@HAE2H

/\“Z Ny —E—RIUFVE C2 USFRAKLE BRI
[x&%] 1 & :330,000 ™  23#&:106,000  3#&:59,000H . 43%&:40,000 ™  53&:26,000H
BE\RE FRESS /IR HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
—n " LIT™EE : -2-2- - KHAE (EB)
1189 LT4—H—FRvY b LRI 1'(2_6)'4 rn | 68 ’ (4_232) REAR
RiFAIAIv— B:OvITTT7UT« FEtE RIS
- s 8 | Hopig 1:26.6 1-1-1-2 |40.2| — | 3 | 474 |HESE (EH)
2055 |IA=—XAR 54.0 ) () | MLLERL
RIZAZARVIKR B:TUIYvAFv v b AM=LT7—La—RL—Y 3V
“ = it 6 | AR 1:26.6 3-3-3-3 [39.8| - 1 459 | WITEX (£
] 4| PRAYFAI * 2530 F9%) w3 | W 7IIVF
RSRPOD BIW—TWF v [ REIIES
. ) /0 FILRE :27. -5-4- . - HHEBE (E8)
al7| 7| F4F I yny o4 | 2 1(227)0 4-5-4-4 [39.6 2 (:1?; AT (i
R:O—RNUFR 8:7Jx=a—XLF« AH 1F
=5~ 4 4 | SAE 1:27.5 8-6-6-6 [39.8| — 6 468 | HHEEAIE (1£E9)
EH 6| F=TYA 5.0 Q1 3y |EHEE
R:aAN/UFv—R BVIZS U5 E RIS
6 | lIEE 1:27.8 6-7-7-7 [39.9| — | 9 | 387 |FEAET (£E)
6/8/10/ Y PLITFU— O ub 1172 w2 | (@ J PN
R:IvITIRTy & B:YLYYTTT7U— ]
. <3 5 | Mg 1:28.1 7-8-9-8 [39.7| — | 10 | 502 |KBE#X (£H)
71718 Yav/FTA4EYY " #55.0 a1/ © B J P N
R:D—)VRI—-R B:FYRNETFT7SA4T BH B
S NS 3 -4-5- - BB (£8)
6 3| FeFe=n 'Y 4| I 1.(238).7 5-4-5-5 | 41.2 7 (4+762) s 2
RibuHoO0—-U— B:I0RA—/\— YUY v A VR
55 4 5 | AKX 1:28.7 9-9-8-9 |40.3| - 5 415 | IHRZ (E8)
1 2 PIE 54.0 \F) 7 |EXZ
RiXAVAVYLYY B:AAY39ITVT =IB%i%
S < 3 HKIBA 2 -10-10- - h)IEF (£E8)
100111 | EYRL=YvvTD 'SR (153(253(3) 1071010710} 42.4 ! (5_03‘; Eﬁ%[&
RTFAWNITFS— B ITIW—FEY h— H B
@ 11— —&BIRfI
1J—3— 5,9.4,7,3,10,8,6,2,1
20—7+— 5,9,4,3,7,6,10,8,2,1
30—7— 5,9.4,7,3,6,10,2,8,1
41—3— (9,5,4,7,3,6,10,8,2,1
[ BN
B B 9 1,680 | | D4 & 5-9 1,340M = 5-8 2,040 3EE 4-5-9 4,270M
B ks 9 470/ 4-9 7304 FS 529 4,670 3iEH 9-5-4 41,390M
5 210M 4-5 260/ 5 L 9-5 10,5604
4 140

ABIC OV TRUTEREERRODDZE. THRIIZEL.




